
pT bins η bins
R = a+ exp(b+ c× pT) R = a+ b× (η − η) B ( Λ0

b → Λ+
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a b c a b

Fit model

Signal +0.7
−0.4% +0.5

−0.2% +0.2
−0.3% +0.3

−0.1% +1.1
−1.8% +0.2

−0.1%

Background +5.5
−1.7% +2.8

−2.1% +2.6
−1.1% +0.6

−0.1% +2.4
−4.7% +0.6

−0.0%

Efficiencies

PID 0.0% 0.5% 2.5% −1.3% 12.7% −1.1%
BDT +5.8

−7.6% −15.1
+14.2% + 9.6

−10.2% +1.3
−1.3% +4.7

−4.8% +2.3
−2.2%

Sample size ±12.1% ±9.0% ±10.8% ±0.9% ±9.3% ±1.2%
Trigger 0.9% 1.0% 1.0% −0.3% −0.1% −0.3%

Other

Bin centre ±0.3% ±0.3% ±0.1% ±0.1% ±1.3% 0.0%

Total +14.6
−14.5% +17.1

−17.7% +14.9
−14.9% +1.8

−2.1% +16.6
−11.6% +2.6

−2.8%


